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Draw the in resultant with the correct angle. J

Add the following vectors. Qndo _,64.{\@ Y duirechion .
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Show the following direction and magnitude on separate paper. Use drawings to scale.

5. Heading of S 25° W for 10 miles, then N 40°E for 20 miles.

6. Heading of N50°W for 15 miles then N50°E for 10 miles

An airplane is traveling at a speed of 360 miles per hour going west. A wind of 60 miles per
hour is coming from the south east. What is the resultant speed of the plane? What is the

heading the plane is actually going? Make a drawing and estimate the solution and then
justify using mathematics. Use the scale 1em = 30 mph.

A sail boat is traveling 35 miles per hour towards the west as a wind is blowing 15 miles per
hour towards the southeast. How fast is the boat actually going and in what direction?
Make a drawing and estimate the solution and then justify using mathematics. Use the
scale 1 em = 5 mph.
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